Centers Review Spinner game January 18, 2017

Centroid 1

1. The centroid of a triangle is the point of
concurrency of what lines of a triangle?

2. The centroid is also known as this point.

3. The centroid is in the triangle.
a. always b. sometimes  c. never
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Centroid 2

1. If S is the centroid and RL = 21, what is the length
of RS and SL?

N

.

T

2. If G is the centroid, what is the length of
DB?

"-‘__‘
.
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3. If G is the centroid, what is the length of
EG?

4. If G is the centroid, and DG=6 what is the
length of DC?
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Centroid 3

1. If G is the centroid and FG=x+8 and
GA=6x-4, what is the value of x?

2. If G is the centroid and CG=3y+7 and
CE=6y, what is the value of y?
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Orthocenter 1

1. The orthocenter of a triangle is the point of
concurrency of what lines of a triangle?
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Orthocenter 2

1. The orthocenter is in the triangle.
a.always  b. sometimes C. hever
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Orthocenter 3

1. Explain the difference between an altitude and a
perpendicular bisector of a triangle. You may draw a
picture to help explain the difference.

2. Where would the orthocenter be located if the
triangle is acute?

3. Where would the orthocenter be located if the
triangle is obtuse?

4. Where would the orthocenter be located if the
triangle is right?
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Circumcenter 3

If P 1s the circumcenter of the tnangle below, which of the following choices must be correct?
(Circle all that apply)

B E] AAPC is isosceles.

F]If mAP =7, then mPB =1

G] £LABP = ZPBC
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Incenter 1

1. The incenter of a triangle is the point of
concurrency of what lines of a triangle?

10
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Incenter 3

Consider the diagram below:
C
0 1. It must be that & = E (TRUE / FALSE)

- 2. 1t must be that mZDCG = mZECG (TRUE / FALSE)
G i

3. It must be that mZ£ABD =mZCBD (TRUE / FALSE)

A va 4. If mZDAF =25° and mZDCG =29°  what 1s
F mZABD ?

12



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

